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Here is a situation which calls for a take off to the attack.  Blue is clean and going for the third wicket while black
is clean and going for the sixth wicket.  Red is dead on partner going for the two back wicket while yellow is also
dead on partner and going for the three back wicket.  Blue and black are behind in score and would greatly
benefit from keeping red and yellow dead.  It is black’s turn and the balls are in the position shown in Diagram 1.
Black begins the attack by roqueting blue (Diagram 2) then taking-off to the danger ball yellow.  The hope is to 
use yellow in order to facilitate getting a rush on red but another good reason to go to yellow first is to take 
yellow out of position for its wicket. 

Black takes off to yellow (Diagram 3) and then (Diagram 4) rushes yellow towards the red ball in order to be ball in 
hand on yellow as close to the spent ball red as possible.
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